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fzpjk;  juk; - 10(I) 

khfhzf; fy;tpj; jpizf;fsk ; 

tlf;F khfhzk; 

,uz;lhk;; jtizg; guPl;ir − 𝟐𝟎𝟐𝟐 

  juk; -  𝟏𝟎                                     fzpjk; 𝐈     

Neuk; - ,uz;L kzpj;jpahyak; 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 gFjp   tpdh vz;   Gs;spfs; 

guPl;rfupd; cgNahfj;jpw;F khj;jpuk; 

   A       1 −  25  

      1        

      2        

      4        

      3        

      5       

B 

      nkhj;jk;        

Kf;fpak; 
➢ ,t;tpdhj;jhs; 𝟖 gf;fq;fisf; 

nfhz;lJ. 
➢ ,g;gf;fj;jpYk; %d;whk; gf;fj;jpYk; 

Fwpj;j ,lq;fspy; ckJ 
Rl;nlz;izj; jpUj;jkhf vOJf. 

➢ Vy;yh tpdhf;fSf;Fk; 
,t;tpdhj;jhspNyNa tpil vOJf. 

➢ tpilfis vOJtjw;Fk; 
mt;tpilfisg; ngw;w tpjj;ijf; 
fhl;Ltjw;Fk; xt;nthU tpdhTf;Ff; 
fPNoAk; tplg;gl;Ls;s ,lj;ijg; 
gad;gLj;Jf. 

➢ tpdhf;fSf;F tpil vOJk;NghJ 
cupa gbKiwfisAk; rupahd 
myFfisAk; fhl;Lf. 

➢ fPo;f; Fwpg;gpl;lthW Gs;spfs; 
toq;fg;gLk;. 
gFjp 𝐀 ,y; 
xt;nthU tpdhtpd;; ripahd 

tpilf;F 2 Gs;spfs; tPjk; 

gFjp 𝐁 ,y; 
xt;nthU tpdhtpd;; rupahd tpilf;F 

10 Gs;spfs; tPjk; 

 

…………………… 

guPl;rhu;j;jpapd; ngau; 

……………………… 

Rl;nlz; 

 

 

 

 

 

 

 

 

 

Mrpupau; ngau; …………. 

Mrpupau; xg;gk;…………. 
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gFjp - I A 

vy;yh tpdhf;fSf;Fk; tpil vOJf. 

1) xU tPl;bd; khjhe;j njhiyNgrpg; gad;ghl;bw;fhd fl;lzk; &. 2 500 MFk;. 
ngWkjp Nru;f;fg;gl;l tupahf (VAT) mjDld; NkYk; &. 300 $l;lg;gLfpd;wJ. 
,jw;Nfw;g mwtplg;gLk; ngWkjp Nru;f;fg;gl;l tupapd; rjtPjj;ijf; fhz;f. 

 
 
 
 
 
 
 
2)  jug;gl;l juTfisf; nfhz;L 𝑥 ,d; gUkidf; fhz;f. 
 

 
 
 
 
 

3) √34 ve;j ,U KO vz;fSf;F ,ilapy; cz;L? 
 
 
 
 
4) klf;if tbtpy; jUf. 43 = 64 
 
 
 
 
5) milg;G ePf;fpr; RUf;Ff. (𝑥 − 4)(𝑥 + 7) 
 
 
 
 
 
 
 
6) ,ilntsp epug;Gf.  
 

xU Kf;Nfhzpapd; ,U gf;fq;fSk; ............................  ,d;ndhU Kf;Nfhzpapd; ,U 
gf;fq;fSf;Fk; ......................... rknkdpd; mk;Kf;Nfhzr;Nrhb g.Nfh.g vDk; 
re;ju;g;gj;jpy; xUq;fpirAk;. 
 

7) 𝑦 = 5 − 2𝑥 vDk; Neu;NfhL x mr;ir ntl;Lk; Gs;spapd; Ms;$W ahJ? 
 
 
 
 
 
 

680 1150 

x 

B 

C 
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8) fPNo cs;s $w;Wf;fspy; rupahdij njupe;njLj;J mjd; fPo;f; fPwpLf . 

I. 0.8 × 1.25 > 2.1 

II. 0.8 + 1.25 = 2.05 

III. 1.25 ÷ 0.8 > 3.5 

 
9) xOq;fhd gy;Nfhzp xd;wpd; mff; Nfhznkhd;wpd; ngWkjp 1400 MFk;. vdpd;  
   i. mjd; Gwf;Nfhznkhd;wpd; ngWkjp ahJ? 
 
 
 
 
   ii. gf;fq;fspd; vz;zpf;if ahJ? 
 
 
 
 
 

10) RUf;Ff. 
2𝑥

𝑥2−1
−

3

𝑥−1
 

 
 
 
 
 
11) 𝑥 ,d; ngWkjp ahJ? 
 
 
 
 
 
 
 
12) (𝑥 − 4)2 =  𝑥2 +  𝑎𝑥 + 𝑏 vdpd; 𝑎, 𝑏 ,d; ngWkjpfisf; fhz;f. 
 
 
 
 
13) 14 cm Miu nfhz;l miutl;l mlupd; Rw;wsitf; fhz;f. 
 
 
 
 
14) ,izfuk;  𝑃𝑄𝑅𝑆 ,y; %iytpl;lk; 𝑃𝑅 ,w;F 𝑆, 𝑄 ,ypUe;J  

   tiuag;gl;l nrq;Fj;Jf;fs; KiwNa 𝑆𝑇, 𝑄𝑈 MFk;. 
i. ∆𝑃𝑅𝑆, ∆ 𝑃𝑄𝑅  ,d; gug;gsTfSf;fpilapyhd  

njhlu;G ahJ? 

 
ii. 𝑄𝑈  ,w;F rkdhd ePsk; nfhz;l gf;fk; ahJ? 

 
 
 

A               𝑥                B 

5 cm        
13 cm        

C      

R 

Q P 

U 

S 

T 
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15) 𝑘 =
𝑎(𝑏+1)

4
 vDk; Nfhitapy; 𝑏 ,id vOthahf khw;Wf. 

 
 
 
 
 
 
 
16) A apypUe;J B apd; jpirNfhs; 1090 MFk;. B apypUe;J A apd; jpirNfhs; 

ahJ? 
 
 
 
 
 
17) gpd;tUk; Nfhitfspd; nghJ klq;FfSl; rpwpaijf; fhz;f. 
             3𝑥 , 2𝑥𝑦, 4𝑦² 
 
 
 
 
18) Nfhit 2𝑥2 + 7𝑥 + 6 ,d; xU fhuzp (𝑥 + 2) MFk;. kw;iwa fhuzpiaf; 

fhz;f. 
 
 
 
 
 
19) xU Nfhlhj jhaf;fl;ilapd; MW gf;fq;fspYk; 2, 2, 3, 3, 4, 4 vd;Dk; 

,yf;fq;fs; vOjg;gl;Ls;sd. ,j;jhaf;fl;il NkNy vwpag;gLk; NghJ xU 
Kjd;ik vz; vOjg;gl;Ls;s xU gf;fk; Nky;Nehf;fp ,Uf;FkhW tpOtjw;fhd 
epfo;jfitf; fhz;f. 

 
 
 
 
 
20) cUtpy; fhl;lg;gl;Ls;s juTfspd;gb  

∆𝑀𝑁𝑂, ∆𝑂𝑃𝑄 ve;epge;jidfspd;gb xUq;fpirAk;?  
fhuzk; jUf.  

 
 
 
 
 
 
 
21) jug;gl;l tupg;glj;jpy; (𝐴 ∩ 𝐵)1I epow;Wf.  
 
 
 
 
 

 

𝑀 

𝑁 𝑃 

𝑄 

𝑂 

B A

A
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22) 𝑥 =  
1

2
    vdpd; 𝑥 +  

1

𝑥
  ,d; ngWkhdj;ijf; fhz;f. 

 
 
 
 

 
 
23) 60ms−1 fjpapy; nry;Yk; Nkhl;lhu; tz;b xd;W 2.4 km nry;tjw;F vLf;Fk; 

Neuk; ahJ? 

 

 

 

 
24) cUtpy; 𝐴 ,ypUe;J 𝐶 ,w;fhd ,wf;ff;Nfhzk; 500 MFk;. 

 𝐵𝐴 ,ypUe;J 20 m J}uj;jpy; 𝐶 cs;sJ.  

,j;juTfisj; jug;gl;Ls;s cUtpw; Fwpf;f.  

 
 
 
 
 
 
25) 𝐴, 𝐵 vd;gd ,U epiyahd Gs;spfshFk;. 𝑋 vd;gJ 𝐴𝑋 = 4 cm MFkhW 𝐴𝐵 ,d; 

nrq;Fj;J ,U$whf;fpapd; kPJ mike;Js;sJ. 𝑋 ,d; mikitg;; gUk;gbg;glj;jpy; 

Fwpj;Jf; fhl;Lf. 

 

 

 

 
 
 

gFjp - I B 

vy;yh tpdhf;fSf;Fk; tpil jUf. 

1. a. RUf;Ff. (2
1

3
− 1

1

4
) ÷  6

1

2
 

 
 
 
 
 
 
 
 
 

𝐴 

𝐵 𝐶 
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b. xU fpuhkj;jpy; cs;stu;fspy; njhopypy; <LgLNthupy; 
2

7
 gq;fpdu; ngz; mur 

cj;jpNahfj;ju;fshfTk;; 
1

7
 gq;fpdu; Mz; mur cj;jpNahfj;ju;fshfTk; 

vQ;rpNahupy; 
1

4
 gq;fpdu; tu;j;jfu;fshfTk; cs;sdu;. kpFjpahf cs;Nshu; 

tptrhapfshtu;. 
 

i. mf;fpuhkj;jpYs;s mur cj;jpNahfj;ju;fs; KOtjd; vd;d gq;fpdu;? 
 
 
 

ii. mf;fpuhkj;jpy; tu;j;jfj;jpy; <LgLNthu; KOtjd; vd;d gq;fpduhtu;? 
 
 
 

iii. mf;fpuhkj;jpy; cs;s tptrhapfspd; vz;zpf;if 600 vdpd;>  

a) tu;j;jfj;jpy; <LgLNthu; vj;jid Ngu;? 
 
 
 

b) mf;fpuhkj;jpy; cs;s ngz; mur cj;jpNahfj;ju;fspd; vz;zpf;if ahJ? 
 
 
 
 

 

2. kz;lgk; xd;wpd; mbj;jsk; 14 m  tpl;lk; nfhz;l miutl;lg;gFjpahYk; 𝐴𝐵𝐶𝐹 

vd;Dk; ruptfg; gFjpahYk; mikf;fg;gl;Ls;sJ. 𝐹𝐸 = 𝐷𝐶 = 6 m, 𝐵𝐷 = 7 m 
MFk;.  

 

i. miu tl;lg;gFjpapd; gug;gsitf; fhz;f. 
 

 
 
 

ii. kz;lgj;jsj;jpd; nkhj;jg; gug;gsitf; fhz;f. 
 
 
 

iii. kz;lgj;jpd; Rw;wsitf; fhz;f.  
 
 
 

iv. kz;lgj;jpd; gFjp 𝐴𝐵𝐷𝐸 MdJ 350 cm gf;f ePsKila rJug; gFjpfshf 
tu;zk; G+rg;gl Ntz;bAs;sJ. mt; mikit glj;jpy; mstPLfSld; 
fhl;Lf. 

 
 
 
 

𝐴 𝐵 

𝐶 𝐷 𝐸 
𝐹 

14 m 

6 m 6 m 
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3. a. utp> Fkhu;> fNzrd; Mfpa %tUk; xU tpahghuj;ij Muk;gpj;J Xuhz;bd; 
,Wjpapy; fpilj;j ,yhgj;ijg; gfpu;e;J nfhz;ldu;. utp> Fkhupw;Ff; fpilj;j 
,yhgq;fSf;fpilapyhd tpfpjk; 3 : 2 MfTk; Fkhu;> fNzrd; ,w;Ff; fpilj;j 
,yhgq;fSf;fpilapyhd tpfpjk; 4 : 5 MfTk; ,Ue;jJ. 

i. %tupilNaAk; ,yhgk; gfpug;gLk; tpfpjj;ij vspa tbtpy; jUf. 

 

 

ii. FkhupYk; ghu;f;f &gh 20 000 mjpfkhf utpf;Ff; fpilj;jJ vdpd;> 
tpahghuj;jpy; fpilj;j nkhj;j ,yhgk; ahJ? 

 

 

 b. irf;fpnshd;iw &gh 12 000 ,w;F tpw;gid nra;tjhy; 20% el;lk; Vw;gLfpd;wJ. 

 i. irf;fpspd; nfhs;tpiy ahJ? 
 
 
 

 ii. 20% ,yhgk; ngWtjw;F irf;fpis tpw;f Ntz;ba tpiy ahJ? 
 
 

 

4. a) ig xd;wpy; gUkdpYk; tbtj;jpYk; rkkhd 15 ge;Jfspy; Ie;jpy; 1 vDk; 
vz;Zk; xd;wpy; 2 vDk; vz;Zk; ,uz;by; 3 vDk; vz;Zk; vQ;rpatw;wpy; 
4 vDk; vz;Zk; vOjg;gl;L ,lg;gl;Ls;sd. ,tw;wpypUe;J xU ge;J 
vOkhwhf ntspNa vLf;fg;gLfpd;wJ. 

    gpd;tUtdtw;wpd; epfo;jfTfisf; fhz;f. 
i) mJ vz; 1 If; nfhz;bUj;jy;.  

 
 

ii) mJ vz; 1 If; nfhz;Ls;s ge;J ,y;yhjjhf ,Uj;jy;  
 
 

iii) ,ul;il vz;zhf ,y;yhjpUj;jy;  
 
 

iv) Kf;Nfhz vz;izf; nfhz;bUg;gjw;Fk; Kf;Nfhz vz;izf; 
nfhz;buhjpUj;jYf;Fkpilapyhd tpfpjk;. 

 
 

   b)  6 kdpju;fs; xU Fwpj;j Ntiyiar; nra;J Kbg;gjw;F 8 ehl;fs; vLg;gjhf 
kjpg;gplg;gl;Ls;sJ. mtu;fs; 3 ehl;fSf;F Ntiy nra;j gpd;du; NkYk; ehd;F 
kdpju;fs; ,f;FOTld; Nru;e;jhy; mt;Ntiyia NkYk; vj;jid ehl;fspy; 
nra;J Kbf;fyhk;? 
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5. xU ghlrhiyapy; cau;juj;jpy; fy;tp fw;Fk; khztu;fs; njupT nra;j ghlq;fs; 
njhlu;ghd juTfs; fPNo cs;s tl;l tiugpy; jug;gl;Ls;sd. 

 

 

 

 

 

 

 

 

 
 fiyj;Jiwiaj; njupT nra;Njhu; 180 khztu;fs;. 
 tu;j;jfj;Jiwiaj; njupT nra;j khztu;fspd; ,U klq;fpdu; 

tpQ;Qhdj;Jiwiaj; njupT nra;jdu;. 

i. juTfis tl;l tiugpy; Fwpf;f. 
 
 

 

ii. tpQ;Qhdj;Jiwiaj; njupT nra;j khztu;fspd; vz;zpf;if 200 vdpd;> 
tu;j;jfj;Jiwiaj; njupT nra;Njhu; vj;jid Ngu;? 
 
 
 
 

iii. fzpjj;Jiwiaf; Fwpf;Fk; Miur;rpiwf; Nfhzk; ahJ? 
 

 

 

iv. fiyj;Jiwiaj; njupT nra;j khztu;fs; nkhj;j khztu;fspd; 
vz;zpf;ifapd; vd;d rjtPjkhFk;? 

 

 

 

 

 

fzpjj;Jiw 

fiyj;Jiw 

tpQ;Qhdj;Jiw 

tu;j;jfj;Jiw 


